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101|R#A7 L 642 146 496| Kg |&I 1,512 486 | B 1E 1,944 756
102|&JE 7= L 2,299 2,299 Kg S - BIE 3,305 648
111|&EEF £ 470 20 450 Kg |B40 1,296 ®e - B 1,728 351
113|RAV S 42 37| Kg |EE 1,512 432| =4 3,240 1,620
114|B5EFE 246 238| Kg |B)I 1,188 BRE - &E 2,754 108
15[ 1= 4 Kg |EfE 2,484 1,080
117[1E 45 11 34| Kg |EE 540 378| 864 540
21| bl E 33 11 22| Kg |EE 1,620 1,404| & 1,512 1,296
134[#= = 680 449 231 Kg |B)- =8 2,600 1,296| %1l 2,592 1,404
137|&5E.3. < 535 481 54| Kg |EI& 4,968 1944\ RE 6,972 1,188
138|Hm % 2 96 30 66| Kg |EE 2,700 2,160| & 3,240 2,376
140(5 I 20 20| Kg b 46,800 19,800
147|EZ O 122 122| Kg BRE - KI5 6,500 3,780
158|&TENAIEH 376 121 255\ Kg |EiE 1,296 810|E1E 2,106 1,944
203|/hd L 64 64| Kg R 324 270
205|3.3 L 267 267| Kg RI5 540 278
206| = 1F 930 930| Kg e 1,620 417
207|= A K 8 8| Keg T 1,215
208| Mo % 124 124|  Kg KI5 2,376 1,404
210{1F AL 32 32 Kg |Ei& 5,940 3,780
212|&5E.3 Y 938 938| Kg E - BB 1,998 1,242
251|< £ <3 254 254  Kg R 4,158 2,376
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252|LWAEXECA 20 20 Kg 2Pl 5,292
254|EDT2ELCAH 683 33 650 Kg |&A 1,318 FE 2,160 1,166
303[A 27z 42 421 Kg . 648 417
305|xAah>0b Kg i 5,940

306|Le &Y Kg . 900

315|7: b5 6 5 5 Kg = I 2,160

3191 h o 125 3 122 Kg [|@&H 309 B 1,296 513
3321 WA =EF 239 239 Kg JbF 2,592 1,836
351|4£ 8 40 35 5| Kg |®E 3,996 2,916 (& E 7,020

3541 <Y 76 76 Kg FE 1,512 1,134
3/5|HEY 125 5 120 Kg [ZA 1,296 A - EE 1,728 600
356|L L& 45 451 Kg SER 1,512 1,080
3577/~ E 56 56| Kg FEE 1,944 270
358| KB 10 10| Kg A0 2,160

362(m & 599 599| Kg IN= 4,104 540
401|H W 14 14 Kg |IHE 1,188

4025 E 13 13| Kg FAN 5,292 4,860
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512| A& AL 70 70| Kg b 1,400 594
523| A EARAT 2 O 1,127 1,127| Kg = 3= b 4,860 1,153
54| ARE & 2V 20 20| Kg Bh 1,782 1,728
5h4|E X BA AR 130 130| Kg £[#=2 900 450
558| 40 40| Kg b 1,296 756
560|487 2 524 524 Kg =] 3,650 990
566|4R A < 895 895| Kg b 6,200 2,300
5764 X 1F 1,235 1,235 Kg b 1,000 980
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70110 BA 1,639 1,327 312 Kg |EE 1,573 650| & 1,188 972
705|7=2< ¥ 142 45 971 Kg |= 1,200 R 7,560 3,348
710(2 2 AT 23 23| Kg Ko 1,375 1,260
751|EFFHh N 415 415 Kg |51R 978 764
755|FH&» C 461 461 Kg EE 775 710
7611 b BHAEL 6 6] Kg EE 2,314
763| Z AMC 38 30 8| Kg |EE 3,456 2,448| k&= 4,447
B01[IBAL = 1S 622 622 Kg 2Dzl 1,728 756
802|1 x| 20 201 Kg mE 1,242
8051 1E 106 106| Kg TFE 1,037 713
807|1BHDF 193 193] Kg bF 9,612 2,160
810|BAKTF 208 208| Kg biF 2,835 1,242
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